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! haar tahlil kheir khati

module one

real , allocatable::s1(:).s2(:).s3(:).tetal(:).tetaz2(:).delta(:)
real,allocatable: :Q(:).L{:),A(:).F(:,: ). ALFA(:) M{:) N{:),AII(:)
real,allocatable::Cl(:).C2(:).B1(:).B2(:),CC1(:).CC2(:).BB1(:)
real,allocatable::BB2(:),AALFA(:),RO(:),U(:)

integer,allocatable: :ME(:,:),LL(: ) . MM(:) MN(:)

real.allocatable: :P(:). DP( ). LV(:),DQ(:),TAO( 2y, TAOl(:,:)
real.allocatable: :LVV(:),FF(:).DOO(:).G(:.:).GG(: . :)
integer,allocatable::D(:,:),JOINT(:,:),LLV( )

REAL: :T(3.3),.G1(6.,6).G2(6.6).G3(6,6).B(6.3).BT(3.6).BT1(6.,3).TT(6.,6),LLL(6)

END MODULE ONE

MODULE TWO
INTEGER: :NJ,NE,I,NS,J,I1,II.JJ,MMM, NNN,AL K, I5,IJ,CONTORUL, TDDD
REAL: :E,QQ.FI,CB,G11,G22,H,SUMX,Q1,XX, XXX, 6 XXXX,YIMAX ,PP,DPP, TDD, YIMIN, yimax5, yimax10, yimaxl

END MODULE TwO
MODULE THREE

INTEGER: :NL,NT,KK,III,JJJ

REAL: : TMAX,MBL,QQQ, PPP, THETA, DELTAT, AL, A2, A3, A4
REAL: :MASS1(6.6).TBT(6.6).TB(6.6)

real,allocatable: :FORCE(:.:).MBAR(:) . MASS(:,:)
real.allocatable: (FI1(: ), FI2(:).YI(:).VI(:).¥YY(:.:).VV(:.:)
real.allocatable: :YI1(:).VI1(:)

real.allocatable: :KM(:,:).YI11(:).VI11(:).FI11(:).AI11(:).FI12(:)

END MODULE THREE

PROGRAM NONLINER_ANALYSIS
USE ONE

USE TwO

USE THREE

IMPLICIT NONE

OPEN(500, FILE="'"INPUT44 .TXT")
OPEN(11,FILE='OUTPUT.TXT")
OPEN(666,FILE="0OUTPUTy . TXT")

WRITE(*,'(A)')' MODOULE ELASTISITY='

READ(500, *)E

WRITE(*, '(A)')' NUMBER OF JOINT='

READ(500, *)NJ

ALLOCATE (3*NJ],DP(3*NJ],LV(3*NJ],DQ(3*NJ),TAO(3*NJ,3*NJ).TAOl(3*NJ,3*NJ)J

(P

ALLOCATE(LVV(3*NJ) . FF(3*NJ).DOO(3*NJ})
(G
(

ALLOCATE(G(NJ, 2),GG( NJ 2))
ALLOCATE NJ 3))
WRITE(*, )')' NUMBER OF ELEMENT='

READ(500, *)NE

ALLOCATE (S1(NE),S2(NE),S3(NE]J, TETAl(NE),TETAZ(NE),DELTA(NE])
ALLOCATE(Q(NE),L(NE), ( E), AII( ),F(4*NE,NE),ALFA(NE),M(NE),N(NE))
ALLOCATE(Cl(NE) 2(NE),B1(N ) 2(NE),CCl(NE),CC2(NE),BB1(NE))
ALLOCATE(BBZ( E), AALFA(NE) (NE),U(NE))
ALLOCATE (ME(NE, 2) , LL(NE),MM(NEJ)

( J))

ALLOCATE JOINT NJ,NE) ,LLV(3*N
READ(500, * )NL , DELTAT , TMAX
NT=TMAX/DELTAT
ALLOCATE ( FORCE ( 3*NJ,NT+1) )
ALLOCATE (MBAR(NE) ,MASS (3*NJ, 3*NJ) )

(

ALLOCATE (YY(3*NJ,NT+1),VV({3*NJ, NT+1) )
ALLOCATE(FIl(B*NJ),FIZ(B*NJ))
ALLOCATE (YI(3*NJ),VI{3*NJ))
ALLOCATE (KM({ 3*NJ, 3*NJ])
ALLOCATE(YI1(3*NJ),VI1(3*NJ),YI11(3*NJ),VIL11(3*NJ))
ALLOCATE(FI11(3*NJ),AI11(3*NJ),FI12(3*NJ))
yimax5=0
yimax10=0
yimax11=0

YIMAX=0.0

YIMIN=0.0

LLV(:)=0

DO I=1,NE

WRITE(*,'(A, I2, 4)")" A('.I.")="

READ(500, *)A(T)



(A, TI2.A)' )
JAII(I)

WRITE ( *
READ(500, *
END DO
WRITE(*, ' (A)')"
READ(500, * JNS
ALLOCATE (MN (NS )
DO I=1,NJ
DO J=1,3
D(I,J)=0
END DO
END DO
PO T=1.NS
WRITE (
READ(SOO
END DO
DO I=1,NS
WRITE(*.'(A,I2,A.A,
READ(500, * )D(MN(I),
WRITE(*,'(A,I2.A A,
READ(500, *)D(MN(IJ,
WRITE(*, ' (A.I2.A.A,
READ(500, *)D(MN(I),
END DO

NS="

|(A )I)I
*)M()

FORCE=0 . 0
PP=200000
TDD=10
TDDD=TDD,/DELTAT
DPP=PP,TDDD
DO J=1,TDDD;
FORCE (4,J)=
FORCE (5. J)=
FORCE(11,J)=
END DO:
DO I=1,NJ
DO J=1,NE
WRITE(*,
READ(500, *
END DO
END DO
DO I=1,NJ
DO J=1,2
WRITE(*, ' (A,I2,A,I2,A)")"
READ(500,*)G(I,J)
END DO
END DO
DO I=1,NE
DO J=1,2
WRITE ( *
READ(500
END DO
END DO
READ(500, * )MBAR

0.01*(
(PP (

P
*DPP

PP-(J
J-1)
-(J-1)*DPP)

"(A,I2,A,I2,A)"
JJOINT(I,J)

] '

I2,A,I2,A)")"

I(A
*IME(I.J)

ME

DO I=1,NE
LL(I)=ME(I.1)
MM(I)}=ME(I.2)

=SORT( (G(MM(I
END DO

DO I=1,NJ
DP(3*I -2
P(3*I-1
DP(3*I)
END DO

J=P(3*I-2),/20
)=P(3*I-1),20
=P (3*I1)./20

DO I=1.3*NJ
LV(I)=0.0000000
END DO

DO I=1,NE

ATITI('.I,

1)-G(LL(I),

1)*DPP)

MN( J 1 1 e |]
MN(I),'.'."2".")
MN(I) ' ' 13 |)
JOINT(',I,','.J,
G('.I.'.".,J3.")
ME(',I,','.J,
1))**2+(G(MM(I).2

J-G(LL(I),

2))**2)



S1(I})=0.0000000
S2(I)=0.0000000
S3(I)=0.0000000
TETAL(I)=0.0000000
TETA2(I)=0.0000000
DELTA(I)=0.0000000
Q(I)=0
END DO

F=0

DO I=1,NE

LL(I)=ME(I.1)
MM(I}=ME(I.2)
¥X=G(MM(I).1)-G(LL(I),1)

XX=.0000000001
END IF
ALFA(I)=ATAN((G(MM(I),2)-G(LL(I).2)})}/XX)
M({I)=COS(ALFA(I))
N(I)=SIN(ALFA(I})
IF(M(I)<.00001)THEN
M{I)=0.0000000
END IF
END DO
DO J=1,NE
MBL=MBAR (
MASS1(1,
MASS1(2.

I oD+~ OoO

MASS1 (4,
MASS1(5,
MASS1(6,

o nnu

—3*L(

wWWwwwww
N N e e e

(IS S AL N S
v e e

OO OO-N
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*
=
—
[

(SRS RS IS RS )]
e e e

o

MASS1(1,
MASS1(2,
MASS1(3,
MASS1(4,
MASS1 (

MASS1 (

Gy Oy OV OV Gy O

5,
6,
MASS1=MBL*MASS1

TB=0.0



TB(1.
TB(1.
TB(2,
TB(2,
TB(3.
TB(4,
TB(4,
TB(5,
TB(5,
TB(6,

Z =

N Ul s Ul s N O
e e e e e e e e

TBT=0.0
TBT=TRANSPOSE (TB)

MASS1=MATMUL (TBT, MASS1)
MASS1=MATMUL (MASS1,TB)

LL(J)=ME(J.1)
MM(J)=ME(J,2)

)
LLL(2)=3*LL(J)-
LLL(3)=3*LL(J)
LLL(4)=3*MM(J)-2
LLL(5)=3*MM(J)-1
LLL(6)=3*MM(J)
DO II=1,56
MMM=LLL(II)

DO JJ=1,6
NNN=LLL (JJ)

MASS (MMM, NNN ) =MASS (MMM, NNN ) +MASS1 (11, JJ)
END DO
END DO
END DO

SUMX=0
DO I=1,3*NJ
SUMX=SUMX+MASS(I.1)
END DO
SUMX=SUMX/ ( 3*N.J)

DO I=1,NS

AL=0

DO J=3*MN(I)-2,3*MN(I)
AL=AL+1
IF(D(MN(I),AL)==1)THEN
DO KK=1,3*NJ
MASS(J,KK)=0

MASS (KK, J)=0

END DO

MASS(J,J)=SUMX

END IF

END DO

END DO

LYV=0.000000
DO=0,000000
DO I1=2,NT-2
ILLV(:)=0.00000000
11DO I=1,NJ
L 1DO(3*I-2)=DP(3*I-2)+DO(3*I-2)
11DQ(3*I-1)DP(3*I-1)+DO(3*I-1)
11DO(3*I)=DP(3*I)+DQ(3*I)
| TEND DO
IWRITE(11,*)LVV(4),LVV(10)
DOO=DP
CALL DAT2
CALL DATS
CONTORUL=0
DO



CONTORUL=CONTCORUL+1

DO J=1.NE
LL(J)=ME(J,1)
MM(J)=ME(J, 2)
CALL DATS3
CALL DATS®
F(3*LL{J)-2,J)=(B(1.1)*S1(J)+B(1,2)*52(J)
F(3*LL(J)-1.,J)=(B(2,1)*S1(J)+B(2.,2)*S2(J)
F(3*LL(J).J)=B(3,1)*S1(J)+B(3,2)*S2(J)+B(
F(3*MM(J)-2.J)=(B(4.,1)*S1(J)+B(4,2)*S2(J)
F(3*MM(J)-1.J)=(B(5,1)*S1(J)+B(5,2)*S2(J)
F(3*MM(J),J)=B(6,1)*S1{J)}+B(6,2)*S2(J)+B(
END DO
FF=0.0000000
DO I=1.NJ
DO J=1.NE
IF(JOINT(I,J)==1)THEN
FF(3*I-2)=FF(3*I-2)+F(3*1-2,J)
FF(3*I-1)=FF(3*I-1)+F(3*I-1,J)
FF(3*I)=FF(3*I)+F(3*I.,J)
END IF
END DO
END DO
DO I=1,NJ
DOQ(3*I-2)=DQ(3*I-2)-FF(3*I-2)
DOQ(3*I-1)=DQ(3*I- l) FF(3*I-1)
DOO(3*I)=DQ(3*I)-FF(3*I)
END DO
DO I=1,NS
DO J=3*MN(I)-2,3*MN(I)
DOO(J)=0.0000000
END DO
END DO
CALL DAT2
CALL DATS
do i=1,nj
do j=3*i-2,3*i-1
f(abs(LV(J))<0.00001)THEN
LLV(J)=1
END IF
END DO
END DO
I5=1
DO I=1,NJ
DO J=3*I1-2,3*I-1
IF (LLV(J)/=1) I5=0
END DO
END DO
IF(I5==1) EXIT
IF(CONTORUL»> 30 )EXIT
END DO
END DO
write(666,*)pp.yimax
CONTAINS

SUBROUTINE SUB1
USE MSIMSL
CALL LSLRG(3*NJ,KM,3*NJ,YI11.1,YIl)
END SUBROUTINE SUB1

SUBRQUTINE SUB2
USE MSIMSL

+B(1,3)*S3(J))/L(T)
+B(2,3)*S3(J))/L(J)
3.3)*S3(J)
+B(4,3)*S3(J))/L(T)
+B(5,3)*S3(J))/L(J)
6.3)*S3(J)



CALL LSLRG(3*NJ,KM,3*NJ,VI11l,1,VI1l)
END SUBROUTINE SUB2

SUBROUTINE SUB3

USE MSIMSL

CALL LSLRG(3*NJ,MASS,3*NJ,FI11,1,AIll)
END SUBROUTINE SUB3

SUBROUTINE DAT1
O0=0(J)*L(J)**2/(3.14159**2*E*ATII(J))
IF(0QQ<(~0.1))THEN

FI=SQRT(3.14159**2* (-1)*00)

C1(J)=(FI**2*COSH(FI)-FI*SINH(FI))/(2-2*COSH(FI}+FI*SINH(FI))

C2(J)=(FI*SINH(FI)-FI**2)/(2-2*COSH(FI)+FI*SINH(FI))
Bl(J)=((C1l(J)+C2(J))*(C2(JT)-2))/(8*3.14159%*2*00Q)
B2(J)=C2(J)/(8*(CL(J)+C2(J)))
CCl(J)=-2*3.14159**2* (BL(J)+B2(J))
CC2(JT)=-2%3.14159**2* (BL(J)-B2(J))
BBL{J)=((-1)*(B1(J)=-B2(J))*(CL{J)+C2(J)1-2*C2(T)*B1(J))/(4*0Q
BB2(J)=3.14159**2* (16*BL1(J)*B2(J}=-BL(J)+B2(J))/(4*(CL{I)+C2(T)))
END IF
IF(DQ>0.1)THEN
FI=SORT(3.14159**2*00)
Cl(J) (FI*SIN(FI)-FI**2*COS(FI))/(2-2*COS(FI)~FI*SIN(FI))
2(J )-(FI**Z—FI*SIN(FI))/(2—2*COS(FI)~FI*SIN(FI]}
1(J)= (( L{J)+C2(J))*(C2(JT)=2))/(8%3.14159**2*00)
2(J)y=C2(J)/(8*(C1(J +C2(J))
CCl(J)——2*3 14159**2*(B1(J)+B2(J))
CC2(J)=-2*3. 14159**2*( 1(J)-B2(J))
BB1{J)=((-1)*(B1(J)-B2(J))*(C1(J)+C2(J))-2*C2(J)*B1(J))/(4*0Q)
BB2(J)=3.14159**2*(1 6*B1[J)*B2(J)— 1(J)+B2(J)) /(4% ( 1(J)y+C2(J)))
END IF
F(ABS(0QQ)<0.1)THEN
Cl(J):4 (2/15)%3.14159**2*00—(11,/6300)*3.14159**4*Q0**2~(1/27000)*3 , 14159**6*00*
*3
C2(J)=2+(1/30)%3.14159**2*Q0+(13/12600)*3.14159**4*Q0**2+(11,378000)*3,14159**6*
QQ**3
Bl(J}=(1/40)+({1,2800)*3.14159**2*%Q0+(1/168000)*3.14159**4*00**2+(37,388080000)*3
14159 *6*00**3
B2(J)=(1/24)+{1,720)*3.14159**2*00+(1/20160)%3 . 14159**4*00**2+(1,604800)*3.14159
HHEHROO* X3
CCL(T)=(-2/15)*%3.14159**2-(11/3150)*3.14159**4*00~(1./9000}*3.14159**§*00**2
CC2(J)=(1-30)%3.14159**2+(13,6300)*3.14159**4*00+(11/126000)*3.14159%*6*00**2
BBL(J)=(1,2800)*3 . 14159**2+(1,84000)*3.14159**4*00+(37,129360000)*3.14159%*6*00*
*2

BB2(J)=(1,720)*3.14159**2+(1,10080)*3.14159**4*00+{1,/201600)*3.14159**6*00**2

END IF
END SUBROUTINE DAT1

SUBROUTINE DAT?2
TAO=0
DO J=1,NE
LL(J)=ME(J,1)
MM(J)=ME(J,2)
CALL DAT1
G11=CC1{J)*TETAL(J)+CC2(J)*TETA2(J)
G22=CC2(J)*TETAL (J)+CCL(J)*TETA2(J)

H=((3.14159**2*ATI(J))/(A(J)*L(J)**2))+BB1(J)* (TETAL(J)+TETA2(
ETAL(J)-TETA2(J))**2

T(1,1)=(E*ATT(J)/L(J))*(CL(T)+(G11**2/(3.14159**2*H)})
T(1,2)=(E*AII(J)/L(J))*(C2(J)+(G1l1*G22/(3.14159**2*H)})
T(1,3)=(E*AII(J)/L(J))*(G1l1/H)
T(2,1)=(E*AIT(J)/L(J))*(C2(T)+(G11*G22/(3.14159**2*H) })
T(2,2)=(E*AIT(J)/L(J)}*(CL(T)+(G22**2/(3.14159**2*H) ))
T(2,3)=(E*AII(J)/L(J))*(G22/H)
T(3,1)=(E*AII(J)/L(J))*(G1l1H)
T(3,2)=(E*AII(J)/L(J))*(G22/H)
T(3,3)=(E*ATT(J)/L(J))*(3.14159**2/H)

CALL DAT3

CALL DAT4

J)y)y**2+BB2(J

)*

(T



BT=TRANSPCOSE(B)
BT1=MATMUL (B.T)
TT=MATMUL (BT1, BT)

TT:TT+Sl[J)*G1+SZ(J)*G2+S3(J)*G3
TT(1:2,1:2)=TT(1:2.1:2)/(L(J)**2)
TT(1:2,4:5) TT(l 2,4:5)/(L(J)**2)
TT(4:5,1:2)=TT(4:5.1:2)/(L(J)**2)
TT(4:5,4:5)=TT(4:5.4:5)/(L(J)**2)
TT(3,1:2)=TT(3,1:2)/L(J)
TT(3.4:5)=TT(3,4:5)/L(J)
TT(6,1:2)=TT(6,1:2)/L(J)
TT(6,4:5)=TT(6,4:5)/L(J)
TT(1:2,3)=TT(1:2,3)/L(J)
TT(1:2,6)=TT(1:2,6)/L(J)
TT(4:5,3)=TT(4:5,3)/L(J)
TT(4:5.6)=TT(4:5,6)/L(J)

LLL(1)=3*LL(J)-2
LLL(2}=3*LL(J)-1
LLL{3)=3*LL(J)
LLL(4)=3*MM(J)-2
LLL(5}=3*MM(J)-1
LLL(6)=3*MM(J)

DO II=1,6

MMM=LLL (II)

DO JJ=1,6
NNN=LLL{JJ)

TAO (MMM, NNN ) =TAO (MMM, NNN)+TT(II,JJ)
END DO
END DO
END DO
SUMX=0
DO I=1.3*NJ
SUMX=SUMX+TAO(I.1)

END DO
SUMX=SUMX/( 3*NJ)
DO I=1.NS
AL=0
DO J=3*MN(I}-2,3*MN(I)
AL=AL+1

IF(D(MN(I),AL)==1)THEN
DO K=1,3*NJ
TAOL(J,K)=TAQ(J.K)
TAO(J.K)=0
TAO(k,j )=
END DO
TAO(J.J)}=SUMX
END IF
END DO
END DO
END SUBROUTINE DAT2

SUBROUTINE DAT3

B(1,1)=-N{J)/(1+DELTA(J))
B(1,2)=-N(J)/(1+DELTA(J))
B(1.,3)=M(J)
B(2,1)=M(J)/(1+DELTA(J)})
B(2,2)=M(J)/(L1+DELTA(J))
B(2,3)=N(J)

B(3.,1}=1

B(3,2)=0

B(3.3)=0
B{4,1)=N(J)/(L1+DELTA(J))
B(4,2)=N(J)/(1+DELTA(J))
B{4.3)=-M(J)
B(5.1)=-M(J)/(1+DELTA(J))
B(5,2)=-M(J)/(1+DELTA(J))
B(5,3)=-N(J}

B(6,1)=0

B(6.2)=1

B(6,3)=0



END SUBROUTINE DAT3
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G3(6,1)=0

G3(6,2)=G3(2.6)

G3(6,3)=G3(3.6)

G3(6 4)=G3(4.6)
3(6,5)=0

G3( ,6)=0

END SUBROUTINE DAT4

SUBROUTINE DATS
| CALL LSLRG(3*NJ, TAO,3*NJ.DQQ.1.LV)
| WRITE(11l,*) 'DIS——————m——m
! DO I=1,3*NJ
I WRITE(11,*)LV(I)

! END DO

DO I=1.3*NJ

DO J=1,3*NJ
KM(I,J)=(0.25*DELTAT**2)*TAO(I
END DO

END DO

DO J=1,3*NJ

FI1(J)=FORCE(J,I1)
YI(J)=YY(J,I1-1)
VI(J)=vV(J,I1-1)

END DO

J}+MASS(I,J)

YI11=(0.5*DELTAT**2)*FI1+DELTAT*MATMUL (MASS ., VI ) -

TMUL (MASS, Y1)

VI)

CALL SUB1

(0.25*DELTAT**2)*MATMUL (TAO, YI)+MA

VI11=DELTAT*FI1-DELTAT*MATMUL (TAQ,YI)-(0. 25*DELTAT**2)*MATMUL (TAO, VI )+MATMUL (MASS,

CALL SUB2
DO II=1,3*NJ

YY(II,I1)=YI1(II)
YV(II,I1)=VI1(II)

END DO

IF (YIL1(4)>=YIMAX) YIMAX=YI1(4)

IF (YIL1(5)>=YIMAX5) YIMAX5=YI1l(5)

IF (YI1(10)>=YIMAX10) YIMAX10=YI1(10)

IF (YI1(11)>=YIMAX11) YIMAX11=YI1l(11)

IF (ABS(YIL(4))>=YIMIN) YIMIN=YI1(4)
WRITE(11,*)'YI1l(4) ,YIMAX, K yimaxb,yimaxl0,yimaxll'
WRITE(11l,*)YI1(4), YIMIN,YIMAX,yimax5,yimaxl0,yimaxll

DO I=1,3*NJ
LyV(I)=YI1(I)
END DO
DO I=1,3*NJ
ILVV(I)=LVV(I
'END DO
! WRITE(1l,*) 'DIS2-————e—————— '
! DO I=1,3*NJ
|
|

J+LV(I)

WRITE (11, *)LVV(4)
END DO

DO J=1,3*NJ
FI2(J)=FORCE(J,Il+1)

END DO

FI11=FI2-MATMUL (TAO,YI1)
CALL SUB3

DO I=1,3*NJ

I WRITE(11,*)*AIL1(',I,"')="
| WRITE(11,*)AIL11(I)
END DO

DO I=1,NE
LL(I)=ME(I,1)
MM(I)=ME(I,2)
GG(LL(I).1)=G(LL(I),1)+LVV(3*LL(I)~2)
GG(LL(I).2)=G(LL(I),2)+LVV(3*LL(I}-1})
GG(mm(I),1)=G({MM(I),1)+LVV(3*mm(I)-2}
GG(mm(I).2)=G(MM(I),2)+LVV(3*mm(I)-1)

END DO



).

2))**2)

-1

DO I=1,NE
LL(I)=ME(I, 1)
MM(I)=ME(I,2)
XX=G(MM(T).1)-G(LL(I).1)

IF(XX==0.0)THEN
XX=0.000000000000000000001
END IF
AALFA (I)=ATAN( (G(MM(I).2)-G(LL(I),2))/XX)
KXX=GG(MM(I),1)-GG(LL(I),1)
F(XXX==0.0)THEN
XXX=0.,00000000000000000001
END IF
ALFA(I)=ATAN( (GG(MM(I},2)-GG(LL(I).2)) /XXX)
IF (AALFA(I)>1.4) THEN
IF (ALFA(I)<0) ALFA(I)=ALFA(I)+3.141592654

END IF

M(I)=COS(ALFA(I))
N(I ) SIN(ALFA(I))
M(I)<.00001)THEN

M(I) 0

END IF
RO(I)=ALFA(I)-AALFA(I)
DELTA(I)=(1/L(I))*SORT((GG(MM(T),1)-GG(LL(I), 1) }**2+(GG(MM(I),2)-GG(LL
U(I)=-L(I)*DELTA(I)
END DO
DO I=1,NE
TETA1(I)=LVV(3*LL(I))-RO(I)
TETA2(I)=LVV(3*MM(I))-RO(I)
END DO

END SUBROUTINE DATS
SUBROUTINE DAT®6

O(J)=E*A(J)*U(J)/L(J)
00= Q( L(J)**Z/(3.14159**2*E*AII(J))
DO

IF(QQ<{(-.0001))THEN

FI=SQORT(3.14159**2*(-1)*0Q)
J)=(FI**2*COSH(FI)-FI*SINH(FI)) (2-2*COSH(FI)+FI*SINH(FI})

Cl(
C2(J)=(FI*SINH(FI) FI**Z)/ (2—2*COSH(FI)+FI*SINH(FI))
B1(J)=((CL(J)+C2(JT))*(C2(J)- ))/(8*3.14159**2*@@)
B2{J)=C2{J)/(8*(C (J)+C2( )
CB=B1(J)* (TETAl( y+TETA2(J ))**2+B2( J* (TETAL(J)-TETA2(J))**2
IF(CB>ABS(U(J)/L(J)))THEN

S3(J)=E*A(J)*U(J)

EXIT
END IF
QI=E*A(J)*((U(J)/L(J}}+CB)

QQ Ql*L(J)**Z/ (3.14159**2*E*AII(J))
ABS (0(J)-01),01)<0.001)THEN
Ql
S3(J)=Q(J)*L(J)
EXIT
END IF
0(J)=01
END IF
IF(QD>.0001)THEN
FI=SORT(3.14159**2*00)
C1(J)=(FI*SIN(FI)-FI**2*COS(FI))/(2-2*COS(FI}J-FI*SIN(FI))
C2(J)=(FI**2~FI*SIN(FI))/(2-2*COS(FI)-FI*SIN(FI))
B1(J})=((CL(J)+C2(J))*(C2(T)=2))/(8*3.14159**2*00)
B2(J)=C2(J)/(8*(CL(J)+C2(J)))
CB=B1(J)*(TETAL (J)+TETA2(J) ) **2+B2(J)* (TETAL(J)-TETA2(J) ) **2

)
IF(CB>ABS(U(J) L(J)))THEN
)

S3(J)=E*A(J)*U(J
EXIT
END IF

10



)/L(J))-CB)
(3.14159**2*E*AIT(J))
—01)01)<0.001)THEN

QL=E*A(J)>
QQ Q1*L(J)
F(ABS((D
Q(J) =01
S3(J)=0(J)*L(J)
EXIT
END IF
Q(J)=01
END IF

IF(ABS(QQ)<.0001)THEN
Cl(J)=4-(2/15)*3.14159**2*Q0- (11,6300} *3.14159**4*Q0Q**2—-(1/

((U(J
*‘)(2/
(J)

27000)%3.14159%*6*QO**3
=24 (1/30)%3.14159**2*00+(13/12600)*3, 14159**4*Q0**2+( 1

C2(J)=
1/378000)*3.14159**6*00**3
Bl(J)=(1/40)+(1,2800)*3.14159**2*00+(1/168000)*3.14159**4*(Q

O**2+(37.,388080000)*3.14159**6*QO**3
B2(J)=(1,/24)+(1-720)*3.14159**2*Q0+(1,20160)*3.14153**4*Q0D*

*24+(1/604800)*3.14159**6*00*3
S3(J1)=0(J)*L(J}
EXIT
END IF
END DO
S1(J)=(E*AII(J)/L(J))*(CLl(J)*TETAL(J)+C2(J)*TETA2(J))
S2(J)=(E*AII(J)/L{J))*(C2(J)*TETAL(J)+C1(J)*TETA2(J})

END SUBROUTINE DATG6

END PROGRAM NONLINER_ANALYSIS
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Abstract
Structural analysis that have been investigated are assumed with linear

relation between external loads and internal forces, so for getting higher
accuracy, nonlinear approach should be considered in this thesis the
relation is considered in the nonlinear form , tangential stiffness matrix is
calculated and nonlinear statically analysis is represented also there are
many different methods to solve differential equation of vibrate motion
of this equation is depended on the shape function therefore finding
solutions for some shape function are possible and for others are
impossible. for this reason in one hand numerical approaches like
duhamel’s integral and other hand approximation approaches like fourier
transformation are discussed. Using wavelet in previous two decade for
approximation of different waves, specially in electronics have been
usual. The other important application of wavelet is in mathematics for
solving of some differential equation. The much wvariety in shape
functions,and much success in analysis of waves represented that using
wavelet in earthquake waves can be useful. In this thesis using haar
wavelet define a method for solving the differential equations of multiple
degrees of freedom system and illustrated that, the method is applicable
both linear and nonlinear system. The advantage of this method consist
of simplicity and generality that can be used for any loading . using from
represented approach some numerical examples is solved then the results
is compared with exact solutions and numerical methods and is
discussed in speed and accuracy, efficiency.



